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. ~a. Inthe box below, draw the pulse as 1t - b, Draw thepulse as it returns ' .
. returns.after reflecting ﬁ:om,a.ﬁxed«end._k,w;ﬁ,,__.«,ﬁ.,.w_. after reflecting from a freeend.
R
a. Draw the pulse as it returns after . b. ‘Draw the pulse as it r,etmjns
reflecting from a fixed end. L after reflecting from a freeend. |
3. Draw the- followmo waves When the completely overlap. Then sometlme soon after they arrlved at the
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b Whlch of the above has the shortest Wavelenoth’7 ( ; o
" ¢. Which ofthe above has the longest wavelengthr7 l 2 '
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10. The same stnng is attached to a hanging mass of 400 g. ‘The hnear densrcy and the length of the strmg
\ have not changed The wave speed 1ncreased to 7 0. 7m/s Explam why : ‘
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11. Com lete the chart for the first four modes of v1brat10n
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:12 A strmg that isa length of 2. 0 m resonates in :
S ﬁve Ioops as shown above at’ a frequency of: 15Hz r |
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a. . Whati is the Wavelength'?
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- b. What is the wave speed‘7
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c. What W111 happen to the number of loops 1f the su

Q 5} ’s fomrAmL g/

- v
S

ended mass 18 mcreased‘7 Explam _
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9. A string is fixed between the wave driver and pulley located 50.0 cm apart ‘A.200. g mass is atteched to
the end of the string providing the tension. When a wave generator vibrates at 150. Hz the string resonates in

the third mode

50.0cm |

Sketch: the first’5 modes of Vlbratlon for this setup

g ‘ _ ‘
b. Find the wavelength. for each of these modes ' VA §
¢. Determine the speed of thé-wave for each of these modes - e Py
- d. Determine the resonant frequency for each of these modes™~ R ‘2" :
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" Vertical:Position vs. Time

Time (s)

6 Use the posmon t1me graph above to. determme the followrng 1f the waveleng‘th Was 0 5m amphtude

7 Two phys1cs students are! settmg up a standmg wave4; 00 meters apart There were 5 nodes produced in

the standmg wave One student moves her hand from th rest__posmon back and forth along the ﬂoor 20 times

theanel P
- b the frequency of .the Wave produced _
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8. What frequency and perrod Would be requlred for the students to produce a standmg wave with three
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